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Level 3 Business Studies, 2018
91379 Demonstrate understanding of how internal factors 
interact within a business that operates in a global context

9.30 a.m. Friday 9 November 2018 
Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of how 
internal factors interact within a 
business that operates in a global 
context.

Demonstrate in-depth understanding 
of how internal factors interact within 
a business that operates in a global 
context.

Demonstrate comprehensive 
understanding of how internal factors 
interact within a business that operates 
in a global context.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

There is ONE task in this booklet. You should attempt ALL FOUR parts of the task.

Refer to relevant business knowledge and / or Māori business concepts in your answers.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2 – 11 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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Achieved

03

No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

















Achievement Exemplar 2018 

 

Subject Level 3 Business Studies Standard 91379 Total score 03 

Q 
Grade 
score 

Annotation 

1 A3 

Part (a) 

The candidate stated that the process innovation would decrease the cost of 
production but failed to explain the reason why. In the second part, the 
candidate incorrectly explained the impact on competitors by providing 
information that focused on Waiti’s business, not the competitors. 

 

Part (b)  

The candidate clearly stated the innovation (3D printer) and the reason for the 
choice of patent in the context. They also stated the positive impact on sales. 
However, they used poor business vocabulary to explain the impact, and 
therefore this answer did not reach Merit. 

 

Part (c) 

The candidate explained one positive effect of the top-down strategy, but the 
impact statement lacked business terminology, so this answer was at the 
Achievement level rather than Merit. In the second part, the candidate fully 
explained one negative effect of the top-down strategy that was sufficient for 
Merit. 

 

Part (d) 

The candidate fully explained one positive effect of the Kaizen strategy that was 
sufficient for Merit. In the second part, the candidate did not explain a valid 
negative effect of Kaizen; the candidate wrote a generic answer which lacked 
technical knowledge specific to Kaizen. 
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